S5 FERKE REFFEERSE(L) XREFHICKL2BEILX8 Ar oA
No. i 48 58 67 78 88 98 107 118 127 18 2R 38 &5t
B CES i — — — — 300 400 100 50 50 100 200 200 1,400
2 |HAFETR — — — — 500 300 100 400 500 200 300 400 2,700
3 |BE#RAXAR — — — — 300 100 100 100 100 50 100 50 900
4 |BEFHREIH — — — — 200 200 100 100 0 50 100 50 800
5 |E#HRFEL&— — — — — 400 200 200 100 200 100 100 100 1,400
6 |AEHBXFEL2— — — — — 200 100 100 50 50 100 50 50 700
7 |ER#BEEEE 2 — — — — — 300 200 100 100 400 100 0 0 1,200
8 |KBERHMXFBL & — — — — — 300 100 50 50 100 100 0 100 800
9 |tRHXARE — — — — 200 100 0 0 0 100 0 400
10 |EBRMXSRIEEL 2 — — — — — 200 100 50 50 0 0 50 0 450
11 |Elhanduntr 2— - - — — 300 100 300 100 100 100 200 100 1,300
12 |ETRRAE — — — — 200 100 0 0 0 0 0 0 300
13 |EEHHEE — — — — 200 500 100 100 100 50 50 100 1,200
14 |EERHEEs — — — — 200 500 100 100 50 50 0 1,000
15 |&BRFEMT7Y— — — — — 500 100 0 100 0 100 0 800
16 |BEsEAE — — — — 200 0 50 50 0 50 0 50 400
17 |hiurREesE — — — — 400 200 300 200 0 200 200 100 1,600
18 |UF>Tahop — — — — 300 100 0 100 100 100 0 100 800
19 |TUBERLXFEEEK — — — — 100 800 0 0 0 0 200 100 1,200
20 |HIMEBREETPISK — — — — 300 200 100 200 0 100 0 100 1,000
£ AAE — — — — 5,600 4,400 1,850 1,950 1,750 1,500 1,700 1,600 20,350
CO2DHIBE (VYA 7ILIChHZHHEE : 0.119kg/AR, OARDCO2R/INE : 14kg/7) Aoy RR R OLBEE (500miBE)  40,700744
4,843kg-CO2 X2 DA#)346745 (40,7004 x 0.119kg + 14kg) XIER  A5HL/0.5
FEHZE(mM) LTy bR M ILVEIBE(A)
6,000 5600 50,000 40,700
5,000 4,400 40,000 34,100 37,500
4,000 30,000
3,000
2,000 1,850 1,950 1750 1500 1700 1,600 20,000
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